
http://www.adobe.com/support/techdocs/316508.html


MATERIALS LIST

Page 1 of 2

MATERIALS & HARDWARE
Part Qty T W L Material

A
B
C
D
E

F
G

H

J

L

N

I

K

M

O

Sawhorses (Two)

Saddles (Two)

Outfeed Support (One)

Platform (One)

4
4
4
4
2

4
2

1

2

2

2

4

4

2

2

#/4"
#/4"
#/4"
#/4"
#/4"

#/4"
&/8"

#/4"

#/4"

#/4"

#/4"

#/4"

#/4"

#/4"

!/4"

16"
3 "!/2

16"
3 "!/2

19 "#/4

3 "!/2

1 "!/2

1 "!/2

1 "!/2

3 "%/8

1 "!/2

2"

1 "!/2

2 "#/4

21 "#/8

16 "!/8

16"
19&/8"
21 "!/2

16 "#/4

19 "#/4

19 "#/4

19 "#/4

61 "!/2

19 "&/8

72"

8"

19 "&/8

19 "&/8

72"

End Panels

Feet

Fixed Panels

Tops

Adjustable Panels

Sides

Spacers

Crossbar

Inner Stretchers

Wide Support Blocks

Narrow Support Blocks

Outer Stretchers

Risers

End Rails

Skin Panels

Pre-glued Pine Panel

Pre-glued Pine Panel

Pre-glued Pine Panel

Pre-glued Pine Panel

Pre-glued Pine Panel

Pine

Pine

Pine

Pine

Pine

Pine

Pine

Pine

Pine

Pine Plywood

WorkbenchMagazine.comSawhorse Cutting DiagramExtras
NLINE

Extras

(82) #8 x 2" Fh Woodscrews
(32) #6 x " Fh Woodscrews
(8) #8 x 1 " Fh Woodscrews
(2) #8 x 3" Fh Woodscrews
(1) " x " x 72" Alum. Channel

!/2
!/4

#/4 !/16

(1) 1 " PVC Pipe
(120) 18-gauge Wire Brads
(4) " x 2" Cotterless Hitch Pins
(4) "-20 x 3" Carriage Bolts
(4) "-20 T-Knobs

!/2

!/4
!/4
!/4

!/4" x 48" x 96" Plywood

CUTTING DIAGRAM

O

O

Copyright 2005, August Home Publishing Company.
All Rights Reserved.

® SAWHORSES
Issue 292     Volume 61      Number 6 December 2005



CUTTING DIAGRAM

A

A

A

A

B

B

B

B

C

C

C

C

D

D

D

D

E

E

#/4" x 20" x 96" Pre-glued Panel

#/4" x 20" x 96" Pre-glued Panel

#/4" x 8" x 96" Pine
N
N

J
J

K
K

K
K

#/4" x 6" x 96" Pine
L L M M

H

I
I

I
I

#/4" x 4" x 60" Pine

#/4" x 4" x 60" Pine

F

F

G

G

F

F

Page 2 of 2
Copyright 2005, August Home Publishing Company.

All Rights Reserved.

® SAWHORSES
Issue 292     Volume 61      Number 6 December 2005




